
 

 

 

Date: 15.05.20 

Class: 6 

Sub. Maths 

1. Give a rough estimate (by rounding off nearest to hundreds) and also a closer estimate 

(by rounding off to nearest tens): 

a) 439 + 334 + 4317 

b) 1,08,737 --  47,599 

c) 8325 --497 

d) 4,89,348 -- 48,365? 

2. Estimate the following products using general rule: 

a) 578 x161 

b) 5281 x 3491 

c) 1291 x 592 

d) 9250 x 29 

3. Which of the following statements are true and which are false? 

i) Zero is the smallest Natural Numder. 

ii) 400 is the predecessor of 399. 

iii) Zero is the smallest Whole Number. 

iv) The Natural Number 1 has no predecessor. 

v) The predecessor of a two-digit number is never a single digit number. 

vi) All Natural Number are Whole number 

vii) All Whole Numbers are Natural Number. 

viii) The successor of a two-digit number is always a two-digit number.     

 


